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=30 yr moving average

=1 year total flow

Clearwater at Spalding
Oct - Sep Streamflow --- ONE Year Total Flow

1981 - 2010 Average = 10,400 KAF
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@2 year total flow ‘

Clearwater at Spalding
Oct - Sep Streamflow --- TWO Year Total Flow

1981 - 2010 Average = 20,800 KAF
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@3 year total flow

Clearwater at Spalding
Oct - Sep Streamflow --- THREE Year Total Flow

31,200 KAF

1981 - 2010 Average
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‘ @4 year total flow ‘

Clearwater at Spalding
Oct - Sep Streamflow --- FOUR Year Total Flow

41,600 KAF

1981 - 2010 Average
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@10 year total flow

Clearwater at Spalding
Oct - Sep Streamflow --- TEN Year Total Flow

1981 - 2010 Average

105,500 KAF
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